Unit 2 Forms of migration, PB 17, AB 13 Kopiervorlage 2.7
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Have to...

The following sentences have been cut into two halves and are mixed up.
Match them and complete the gaps with the correct form of “have to”.
Be careful to use the correct form for the 3rd person singular: She/he has to do something.

[ Miranda drink a cup of tea ] ( if they want to go to the cinema. ]
[ You eat more fruit j [ so he can go to the hockey training. j
[ You__have 7o run [ in order to get your vitamins. ]
[Children ask their parents] if you want to catch the train. ]
[ Our dog wait outside ] [ because they talk too much. ]
[ call my friend ] [ because she works in the mornings. ]
[Peter finish his homework] [ because he works in a bank. ]
[ Paul and John change pIacesj [ so | can tell him the latest news. ]
[ We help our mother ] [ because her stomach hurts. ]
[ My dad wear a tie ] ( when we go into a shop. ]

Put the parts of the sentence together and write it down!

[ in order to j You
[ muscles! ]
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